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ABSTRACT

The objective of this work is to joint ZrO, to itself using Ti foil. The
reaction was at the temperature from 1100°C to 1500°C in the atmosphere
of argon. The microstructure of the reaction interface were characterized

by scanning electron microscopy(SEM) selectron probe microanalyzer

(EPMA) and analytical transmission:electron microscopy(TEM/EDS).
After annealing at 1100°C/36h, the-dissolution of a large amount of
oxygen into titanium gave rise to.a-Ti(Q) solid solution. At temperature

above 1200°C - the oxygen transport through the interface resulting in the

growth of titanium oxide, TiO and Ti,O;.In the zirconia side, t-ZrO, was
found after 1100°C/36h-1400°C/36h annealing, and c-ZrO, was also
found after annealing at 1300°C /36h.

il



R BT
B ST R G e TS RTE A 4 gk A

A0 FA R ARG ARG W R i e

AR R HE A BRI R R R HEREALRET R
UFHE Y EFREE > QAL D G hgKRE R AP % A

Gtk BT P o

ot R RIR T R E L BTG s 7 TR A 47 2

BNt B o R TER R B 4T S R T{riF 2 5 hit

AR B3t FA P AP RLE TR el e e A B
CHRRR A KA AR e by L B RS RBE LM

g~ W& R Bk A MAREFRTRE S X SR

B Ol © kiki SSEPFR e0pg B ASEE 0 R PR - X Mg

Jin

P A g

%

R AR LR FE ST T Lty L e

=

FIh ARG IR ELL AR KF LRS- B F

B~y — A2rBEn A B MAF|FTA AT L NP e 2 REH

il



BB 9SS A L e

"

Ik

fPio~52%  FlamiPRAE AL  RBRAR S BEA-L2RE B

SR - F R R

fm\a.
\ \
4«
_‘_—g:
.?_.
‘h
o

el
¢

b
ra

>¢

A4
s

—}\‘4 ’ :1’:3:]—7‘]]350

Boil o @A RS A B BN B e T L o B

AR A LA B Ad BRI Eo N G SR ERD e
A R F1 G G PR YR A - 2 RS iR e R 2

A EFARRE AR N E o RN IR L B TS

P p R R BaRE

v



EoN E E
= Ji Iy
Ol =~ O DN — Ol = Lo DN —

A ey PR R R R g 0000 00 W0 0O gy DO DO RO gy B
S O1 = W DN —

Wi S
<ol 144

=
g

.................................................................. i
.................................................................. ii
.................................................................. iii
.................................................................. v
.................................................................. vi
.................................................................. vii
o T P TR PRIy 1
@ggﬁégk@@ ............................................. 3
T e - T P P PP PP PR 3
§ {L %—L/T L L T R P PP PR PPRPPPY 5
BR2_F TV [T G ceveeerecennnnnniiiiiiiiiiiiiiiiiiiiiiieee, 8
gjl,é%lxg%:y\j%_g .......................................... 10
§l"é’%l’i’{[’?7\1’f)ﬁ’?g .......................................... 14
?55;5153? ...................................................... 17
| [ PTG PRSPPI P 17
%_é‘, {_F_‘”]%"if% ................................................ 18

;él;llﬁl% ................................................... 18

A ﬂﬁ fi& % ...................................................... 20
‘:F‘;- 5 g R R R RRELTET 22

1100°C /BN +w+veverrrrrrrsnseersssrarasnenerieieneeiennnns 22
1200°C /SBNT +++veverererrernrrarnssesarasnenarieieseeiennnns 24
1800°C /BRI e+ vererererrerereararurrnrarnsenrieisnaenennnns 31
1400 C /BN ++veverererrerererrarnsnnrarnsenrieinnaenennnns 37



N U SR JURN NG
— O DN — —

ﬁ:"(i%j\ﬂﬂ,§4}i’?’ .......................................... 50
FRE ﬁ%ﬁg%;\;/ﬂ\; B e eeeiiiiiiiiii 51

AR FE AN A e e 51
%@_;ﬁ%‘y\,ﬁ{_gﬁ}‘fi .......................................... 52

Bulk Ti 27 Ti foil 2 SN 4 bl flieeeererencereneerannennnnne, 53

vi



® 2.1
® 2.2
® 2.3
# 2.4

B 3. 1
B 3.2
W 4.1

. 4. 2

@ 4.3

B 4.4

® 4.5

® 4.6

W 4.7

# 4.8

® 4.9

® 4. 10

B 4.11

® 4. 12

WP &

ﬁﬁ—r&ﬂf#*ﬂ A %ﬂ.ﬁéfﬁ_ﬂﬁ’] ....................................
ikd B AAER L « #Eiaaai‘ﬂﬁ‘%fﬁl%] .....................
LEAFTHESD #Bi%;f%‘ .................................
F VA2 AR U SR ARB e

0 R A EE TR R R P P PP PP PP PP PP PP PP PPPPPPPRPPRE
Bl LB R B
Zr0:/Ti/7r0:5 1100°C /36hr#x & % 4 & SEM2 BEI #
ffoo (a)SEMZ # w4254 % 3 & H(BED), () Bl (a)* #
s @vg;;_" ]'g] ...................................................
(a)Zr0:/Ti/Zr0:*t 1100°C/36hr 4% & 15 22 ¥ » 4%
b7 F B 4(BED) > (b) 1% 7% a2 TEMP? AL.27 82 §(BF D)
Zr0:/Ti/Zr0:*t 1100°C/36hr ¥ 4 & 160 (a) i & A2
TEMP? 425 22 5 (BFI) 5 (b) t-Zr0:«2- SADP (c)t-Zr0:«
2 EDSA~ 473 5 (d) a-Ti(0)2SADP ; (c) a-Ti(0)
2_EDSA 45 3 2 - osiiiniidilin, e

Zr0:/Ti/7r0: % 1200°C/86hr4% & 16 /i » SEM2 BEI#*
ik o (a)SEMz # o dic 8t = #2656 (BED), (b Bl (a) * 1%
T ),f&j\—g;c_'\ Eg] ................................................

r2 WDS &R 1200 C/36hr#& &2 TiZr> 0 ~ % 2

(a)Zr0:/Ti/Zr02*t 1200°C/36hr * 4% & 18 2. ¥ w47
B3+ B %(BEL) (b) zone I z- TEMp 495 2% i%(BFI)
Zr0:/T1/Zr0:3t 1200°C/36hr ¥ R4x & 6 -(a)d i 42
fi o Rz TEMPP AR5 82 15 (BFI) 5 (b)t-Zr0:+2 EDS4 47
,I,;;.g ; (C) N (d) t=710252_ SADP:cvccceeececeencecnes
Zr0:/Ti/Zr0:t 1200°C/36hr & R4 & (80 (a)dx ] 4 o
Bz TEMP? 4L 2% 82 t5(BFI) 5 (b)T120s2- EDSA4 47 & 3% ;
() ~ (d) Ti2052. SADP-++rerrrrrerrrrrerrrrrrerrreneennen,
Zr0:/T1/Zr0:%t 1200°C/36hr» B4&x £ 6-(a)d i 42
A & f?. TEMP? 4L 2% 82 15.(BFI) 5 (b)Ti02 EDS4 47 &
S 5 ()~ (A) Ti0Z SADP:++srsrssrrrnrrrrreenaaeanannn.
Tl_o #B Eg] .........................................................
(a)Zr02/Ti/Zr0:*t 1200°C/36hr* J 4 & 18 2. ¥ = 4%
3+ F 4 (BEI) (b) zonell 2. TEMP 4R 2% 8% if(BFI)
Zr0:/Ti/Zr0:t 1200°C/36hr ¥ R4 & (8- (a)d i &)
Ao R TEMP AR ZF 82 1 (BFI) 5 (b)Ti:0:2- EDS4 47 %

vii

58

59

60

61

62

63

64

65

66

67

68



®.4.13
B 4.
B 4.

B 4.

B 4.

i 4.

B 4.

B 4.

i 4.

B 4.

B 4.

i 4.

B 4.

B 4.

B 4.

B 4.

16

17

18

19

20

21

22

23

24

25

26

27

28

25 () ~ (d) Ti0s2 SADP-weeerereeeeesssnsssnnsnnenns
(@)Ti0 (D)Ti0s (C)Ti022 do R Hereereesevsmeseenneens
Monoclinictp (TisVa) (OsVar) Jffereeeeeeeseeseeneens
(a)Zr0:/Ti/Zr0: % 1300°C/36hrd% & ¢ /i & SEM2 BEI
B ifco (D) B (a) @ fBrm Lz A & [fleveeeeeeeeeeesennnns

EPMA/WDS & ] 1300°C/36hr 4 & 62 Ti > Zr > 0 ~ %

(a)Zr0:/Ti/Zr0:*+ 1300°C/36hr & 4% & & SEM2 BEI
¥ 1% (b) zone I 2 TEMP? ARTF 2 (BFI) --ovvevevenees
Zr0:/Ti/Zr0:* 1300°C/36hr ¥ &4 & 20 (a) ¥ it 4 p
i ez TEMP?P AR 27 B2 §(BF D) 5 (b)c—Zr0:+2 EDS~ +7
2% 5 (¢) ~ (d) c—Zr0ps2 SADP:eeeeveeeeeaeanennns
Zr0:/Ti/Zr0:* 1300°C/36hr ¥ 4% & 150 (a) ¥ it 4 i
i ez TEMPP AR TF 2 (BF D) 5 (b)t-Zr0:+2 EDS4 +7
£ 5 ()~ (d) t-Zr0sx2 SADP-+--creeeeerneennens
Zr0:/T1/Zr0:+ 1300°C/36hr ¥ 4% & 120 (a)F * & i
i o 2o TEMP? 485 2 5 (BED) 5 (b)Ti02 EDS 4 +7 %
5 ()~ () TI0ZISADP: e s vsteeeevnnnnanenniiannn.n,
Zr0:/Ti/Zr0% 1300°C/36hr > &4 & 120 (a) ¥ it 42 p
oo 2o TEMPRARZF 2 5 (BF L)' (b)Ti02 EDS 4 47
35 ()~ (d) TiOZI SADP: - cstreeneenrneeniiniiiinnnen.
Zr0:/T1/Zr0:%+ 1300°C736hr # &4 & 16> ()45 ) /1 &
Fez- TEMP? AR 25 B2 15 (BF D) 5 (b)Ti:0s2- EDSA 45 % 3¥ 5
(c) ~ (d) Tiz0s2_ SADP:+-vvrerrerneanmneananeniaannnnnn.
(a)Zr0:/Ti/Zr0:*+ 1300°C/36hr & J&4% & & SEM2 BEI
£ 15(b) zone Il 2 TEMP AL25 5 H(BFT) «eoreeervereees
Zr0:/Ti/Zr0:* 1300°C/36hr ¥ 4% & 120 (a) ¥ it 42 p
i ez TEMP? AR2F 2 4 (BFI) » (b) Ti:0s2 EDS4 #7 3k
35 ()~ (d) Tiz032- SADP:weeeveveeraeenennnianinene.
Zr0:/T1/Zr0:%+ 1300°C/36hr ¥ 4% & #20(a)F 1 & i
i o ez TEMP? AR 27 22 i3 (BFD) 5 (b)Ti02 EDS4 47 %
;‘H‘ ; (C) N (d) T102_SADP:-ceeeececeereceetiiniiinnnas,
Zr0:/Ti1/Zr0: 5 1400°C/36hr# & t6 /i & (a)SEMz #
v AR+ R H(BED, (b Rl(a) ® 57T 2 2+ -
(a)Zr0/Ti/Zr0:*+ 1400°C/36hr ¥ 4% & 16 2 F w4t
549 (BED) » (D) 77 ez TEMP ART5 % i (BFT) «----
Zr0:/Ti/Zr0* 1400°C/36hr ¥ 4% & 60 (a) /i & fe

viii

69
70
71

72

73

74

75

76

77

78

79

80

81

82

83

84



® 4. 29

i 4. 30
i 4. 31

TEMP* 425 82 (BFI) 5 (b) Ti02 SADP ; (c)Ti02 EDS
45 % F# 5 (d)t-Zr0:+2 SADP ; (e)t-Zr0:«2- EDS» 47
,Jc,;_g O seeeeeeettetesaseeceenttttnsttestnarttennnstennnns 85
Zr0:/Ti/Zr0: % 1500°C/36hrizx & 15 /i w (a)SEMz #
wACE R F 2 RBED, (b Bl(a)? 7 2 e Bl - 86

a-Ti ¥ & B3 F A v Bt d Bie2 B e 37
(@)-(c)BEF ™ > ZrOpl 2 2 Ti0z BBl -w--eeeer 28

X



